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51 +70 | 130| 107(M |V 0:20 10:43| 10:45|Jimramov,,Obecni Gfad 11:18|Poli¢ka,,aut.st. 19,7 51| 1004,7 7,30 372,3 of 12,4 632,4 0 0 0 0
51 +70 | 130 109|M |V 0:00 12:40( 12:43|Policka,,aut.st. 13:55|Nové Mésto na Mor.,,centrum 36,1 51| 1841,1 23,70 1208,7 0 12,4 632,4 0 0 0 0
51 +70 | 130 102[M |V 0:00|  14:00| 14:05|Nové Mésto na Mor.,,centrum 15:18|Poli¢ka,,aut.st. 36,1 51| 1841,1| 23,70 1208,7 ol 12,4 632,4 0 0 0 0
51 +70 | 130 104|M |V 0:00 16:40| 16:43|Policka,,aut.st. 17:55|Nové Mésto na Mor.,,centrum 36,1 51| 1841,1 23,70 1208,7 0 12,4 632,4 0 0 0 0
51 +70 | 130| 106({M |V 0:20 20:05| 20:10|{Nové Mésto na Mor.,,centrum 20:41|Jimramov,,GAMA 17,1 51 872,1 17,10 872,1 0 0 0 0 0 0
o odstup 145,1 7400,1 95,5 4870,5( 0 0| 49,6 2529,6| 0| 0|/ Of O| O|0f 0| O[O
Sicell 0 0 V celkem 145,1 0 7400,1 95,5 4870,5 0 0 49,6 25296 0 00 0 00O0O0O
o ndstup

52 766 [ 130] 101|M 0:20 7:30|  7:33|Nové Mésto na Mor.,,centrum 8:38|Politka,,aut.st. 36,1 58| 2093,8| 23,70 1374,6 o 12,4 719,2 0 0 0 0
52 766 | 130] 103({M 0:00 8:43 8:48|Policka,,aut.st. 9:55|Nové Mésto na Mor.,,centrum 36,1 58| 2093,8 23,70 1374,6 0 12,4 719,2 0 0 0 0
52 766 | 146| 103|M 0:00 10:15| 10:17|Nové Mésto na Mor.,,centrum 10:26|Nové Mésto na Mor.,Jifikovice 5,5 58 319 5,50 319 0 0 0 0 0 0
52 766 | 146] 104({M 0:20 10:26 | 10:26|Nové Mésto na Mor.,Jifikovice 10:36|Nové Mésto na Mor.,,centrum 5,2 58 301,6 5,20 301,6 0 0 0 0 0 0
o odstup 82,9 4808,2 58,1 3369,8 0 o 24,8 1438,4| o[ o{ o] o] o| o| o] 0|0
52cell 0 0 0 celkem 82,9 0 4808,2 58,1 3369,8 0 0 24,8 14384 0 00 0 00O OO
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59 6+ |prejezd S | o020 9:05 9:05|Darkovice 9:10|Snézné,,hotel Zdlozna 2,8 64 179,2 2,8 179,2 0 0 0 0 0 0
59 6+ 144 102(S S 0:00 9:10| 9:12|Snéiné, hotel ZaloZna 9:49|Nové Mésto na Mor.,,Dopravni term| 18,8 64| 1203,2 18,80 1203,2 0 0 0 0 0 0
59 6+ |prejezd S | o0:00 9:49 9:49[Nové Mésto na Mor.,,Dopra 9:52|Nové Mésto na Mor.,,centrum 3,2 64 204,8 3,2 204,8 0 0 0 0 0 0
59 6+ 140 103|S |S 0:00 9:58| 10:02|Nové Mésto na Mor.,,centrum 10:45|Svratka,,aut.st. 23,8 64| 1523,2 23,80 1523,2 0 0 0 0 0 0
59 6+ 140| 106(S |S 0:00 11:10| 11:13|Svratka,,aut.st. 11:58|Nové Mésto na Mor.,,centrum 23,8 64| 1523,2 23,80 1523,2 0 0 0 0 0 0
59 6+ 140| 105(S |S 0:00 11:58| 12:02|Nové Mésto na Mor.,,centrum 12:45|Svratka,,aut.st. 23,8 64| 1523,2 23,80 1523,2 0 0 0 0 0 0
59 6+ 140| 108(S |S 0:00 13:10| 13:13|Svratka,,aut.st. 13:58|Nové Mésto na Mor.,,centrum 23,8 64| 1523,2 23,80 1523,2 0 0 0 0 0 0
59 6+ |prejezd S | o000 13:58| 13:58|Nové Mésto na Mor.,,centrum 14:01|Nové Mésto na Mor.,,Dopravni term| 3,2 64 204,8 3,2 204,8 0 0 0 0 0 0
59 6+ 144] 103(S |S 0:00 14:05| 14:10|Nové Mésto na Mor.,,Dopravni t 14:49|Snéiné, hotel Zdlozna 18,8 64| 1203,2 18,80 1203,2 0 0 0 0 0 0
59 +70 | 143| 171({M |[S 0:00 15:07| 15:08|Snézné, hotel ZdloZna 15:16(Spélkov 6 51 306 6,00 306 0 0 0 0 0 0
59 +70 | 143| 172({M |S 0:00 15:16| 15:18|Spélkov 15:32|Snézné,, hotel ZéloZzna 8 51 408 8,00 408 0 0 0 0 0 0
59 6+ 144 106(S S 0:00 17:10| 17:12|Snézné, hotel ZaloZna 17:49|Nové Mésto na Mor.,,Dopravni term| 18,8 64| 1203,2 18,80 1203,2 0 0 0 0 0 0
59 6+ 144] 105|S |S 0:00[ 1805 18:10{Nové Mésto na Mor.,,Dopravni t 18:49(Snéiné, hotel ZaloZna 18,8 64| 1203,2| 18,80 1203,2 0 0 0 0 o[ |O
59 6+ |prejezd S | 020 18:49| 18:49|Snéiné, hotel ZaloZna 18:53|Dankovice 2,8 64 179,2 2,8 179,2 0 0 0 0 0 0
o odstup 196,4 12387,6( 196,4 12387,6( 0 0 o[ o] oj o[ o] o|0fo0|Of0
59cell 0 0 S celkem 196,4 0 12387,6 196,4 12387,6 O 0 0000 OOOOOO
o ndstup
60 6+ |prejezd \Y 0:20 6:30 6:30|Darkovice 6:33|Snézné,, hotel Zalozna 2,8 64 179,2 2,8 179,2 0 0 0 0 0 0
60 6+ 143| 102({M |V 0:00 6:33 6:35|Snézné, hotel ZdloZna 7:18|Zd4r n.Saz.,,aut.nadr. 26,8 64| 1715,2 26,80 1715,2 0 0 0 0 0 0
60 6+ 151| 101|M |V | o000 7:38|  7:40|Zd‘ér n.Saz.,,aut.nadr. 7:57|Hamry n.Saz.,Slakhamry 7,4 64| 4736 7,40 473,6 0 0 0 ol [o] |o
60 6+ 151] 102({M |V 0:00 7:59 8:00|Hamry n.Saz.,Slakhamry 8:18|Zd’ar n.Saz.,,aut.nadr. 7,4 64 473,6 7,40 473,6 0 0 0 0 0 0
60 6+ 150 103(S [V 0:00 9:37|  9:42|Zdar n.Saz.,,aut.nadr. 10:23|Svratka,,aut.st. 24,1 64| 1542,4 24,10 1542,4 0 0 0 0 0 0
60 6+ 150| 106(S |V 0:00 11:32| 11:35|Svratka,,aut.st. 12:18|Zd4r n.Saz.,,aut.nadr. 24,1 64| 1542,4 24,10 1542,4 0 0 0 0 0 0
60 6+ 155 103(S [V 0:00 13:40| 13:45|Zd’ér n.Saz.,,aut.nadr. 14:31|MéFin,,ndm. 32 64 2048 32,00 2048 0 0 0 0 0 0
60 6+ 155| 106|S |V 0:00( 1527 15:30{Mé&Fin,,ndm. 16:16|Zd4ar n.Saz.,,aut.nadr. 32 64 2048| 32,00 2048 0 0 0 0 o[ |0
60 6+ 202| 107|S |V 0:00 16:16| 16:16|Zdar n.Saz.,,aut.nadr. 16:40[{Nové Mésto na Mor.,,centrum 15 64 960 15,00 960 0 0 0 0 0 0
60 6+ 202 108(S |V 0:00 16:40| 16:40|Nové Mésto na Mor.,,centrur 16:47|Nové Mésto na Mor.,Slavkovice 4,9 64 313,6 4,90 313,6 0 0 0 0 0 0
60 6+ 202| 109|S |V 0:00 18:05| 18:13|Nové Mésto na Mor.,Slavkov 18:20[{Nové Mésto na Mor.,,centrum 4,9 64 313,6 4,90 313,6 0 0 0 0 0 0
60 6+ 202 110(S |V 0:00 18:20| 18:20|Nové Mésto na Mor.,,centrur 18:46|Zd4ar n.Saz.,,aut.nadr. 15 64 960 15,00 960 0 0 0 0 0 0
60 6+ 143| 113|M |v [0:00 19:38| 19:42|Zd4r n.Saz.,,aut.nadr. 20:21|Snéiné, hotel Zalozna 21,7 64| 1388,8| 21,70 1388,8 0 0 0 0 o[ |0
60 6+ |prejezd Y 0:20 18:49| 18:49|Snéiné, hotel Zalozna 18:53|Darkovice 2,8 64 179,2 2,8 179,2 0 0 0 0 0 0
o odstup 220,9 14137,6( 220,9 14137,6( 0 0 0 o{ o] o] o|o|o| 0|0
60cell 0 0 V celkem 220,9 0 14137,6 220,9 14137,6 O 0 0000 O O0OOOOO
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62 766 | 139] 102|M |V 0:20 7:55 7:56|Bobrova,Dolni Bobrova 8:28|Nové Mésto na Mor.,,centrum 17,5 58 1015 17,50 1015 0 0 0 0 0 0
62 766 | 146] 101(M |V 0:00 8:28 8:30|Nové Mésto na Mor.,,centrum 8:40|Nové Mésto na Mor.,Jifikovice 5,2 58 301,6 5,20 301,6 0 0 0 0 0 0
62 766 | 146| 102|M |V 0:00 8:40|  8:40[Nové Mésto na Mor.,Jifikovice 8:50{Nové Mésto na Mor.,,centrum 5,5 58 319 5,50 319 0 0 0 0 0 0
62 766 | 139 101|M |V 0:20 10:05| 10:10|Nové Mésto na Mor.,,centrum 10:42|Bobrova,Dolni Bobrova 17,5 58 1015 17,50 1015 0 0 0 0 0 0
o odstup 45,7 2650,6 45,7 2650,6| O 0 0 o[ ol ojo| o] o|o0]|o0| 0|0
62cell 0 0 V celkem 45,7 0 2650,6 45,7 2650,6 O 0 0 0000 O O0OO0OOOO
o ndstup

66 6+ 141 101|vV [V 0:20 7:52 7:53[Pusta Rybn4,,host. 8:21|Policka,,aut.st. 16,6 64| 1062,4 0,00 0 0| 16,6 1062,4 0 0 0 0
66 6+ 141 102|]V |V 0:00 8:34| 8:38|Policka,,aut.st. 9:33|Svratka,,aut.st. 29,8 64| 1907,2 7,70 492,8 0| 22,1 1414,4 0 0 o] |0
66 6+ 141 103|V [V 0:00 10:25| 10:27|Svratka,,aut.st. 11:21|Policka,,aut.st. 29,8 64| 1907,2 7,70 492,8 of 221 1414,4 0 0 0 0
66 6+ 141 104|V |V 0:00| 12:34| 12:38|Policka,,aut.st. 13:33|Svratka,,aut.st. 29,8 64| 1907,2 7,70 492,8 0| 22,1 1414,4 0 0 o] |0
66 6+ 141| 105V [V 0:00 14:25| 14:27|Svratka,,aut.st. 15:21|Policka,,aut.st. 29,8 64| 1907,2 7,70 492,8 of 221 1414,4 0 0 0 0
66 6+ 141 106|V |V 0:00| 16:34| 16:38|Policka,,aut.st. 17:33|Svratka,,aut.st. 29,8 64| 1907,2 7,70 492,8 0| 22,1 1414,4 0 0 o] |0
66 6+ 141 107|V [V 0:00 18:25| 18:27|Svratka,,aut.st. 19:21|Policka,,aut.st. 29,8 64| 1907,2 7,70 492,8 of 221 1414,4 0 0 0 0
66 6+ 141 108|V |V 0:20| 19:34| 19:38|Policka,,aut.st. 20:07|Pusta Rybna,, host. 16,6 64| 1062,4 0,00 0 0| 16,6 1062,4 0 0 o] |0
o odstup 212 13568 46,2 2956,8| 0O o[ 165,8/ 10611,2| o] o[ o| o] of of o] o|O
66cell 0 0 V celkem 212 0 13568 46,2 2956,8 O 0 165,8 10611,2 0 0 0 0 00O OO
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68 6+ 150 102(S [V 0:20 6:32 6:35|Svratka,,aut.st. 7:18|Zd'4r n.Saz.,,aut.nadr. 24,1 64| 1542,4 24,10 1542,4 0 0 0 0 0 0
68 6+ 150| 101(S |V 0:00 7:37 7:42|2dar n.Saz.,,aut.nadr. 8:23|Svratka,,aut.st. 24,1 64| 1542,4 24,10 1542,4 0 0 0 0 0 0
68 6+ 150 104(S [V 0:00 9:32| 9:35|Svratka,,aut.st. 10:18|Zdar n.Saz.,,aut.nadr. 24,1 64| 1542,4 24,10 1542,4 0 0 0 0 0 0
68 6+ 151] 103({M |V 0:00 11:38| 11:40|Zdar n.Saz.,,aut.nadr. 11:57|Hamry n.Saz.,Slakhamry 7,4 64 473,6 7,40 473,6 0 0 0 0 0 0
68 6+ 151 104({M [V 0:00 12:59| 12:00|Hamry n.Saz.,Slakhamry 12:18|Zdar n.Saz.,,aut.nadr. 7,4 64 473,6 7,40 473,6 0 0 0 0 0 0
68 6+ 143| 105V |V 0:00 12:37| 12:42|Zd4ar n.Séz.,,aut.nadr. 13:21|Snéiné,,hotel Zdlozna 21,7 64| 1388,8 21,70 1388,8 0 0 0 0 0 0
68 6+30| 140| 153|V |V 0:00 13:21| 13:25|Snézné, hotel ZdloZna 13:45|Svratka,,aut.st. 11,1 40 444 11,10 444 0 0 0 0 0 0
68 6+30 140( 154|V |V 0:00 14:10| 14:13|Svratka,,aut.st. 14:33|Snézné,,hotel Zdlozna 11,1 40 444 11,10 444 0 0 0 0 0 0
68 6+ 143 110V [V 0:00 14:33| 14:37|Snézné, hotel ZdloZna 15:18|Zdar n.Saz.,,aut.nadr. 21,7 64| 1388,8 21,70 1388,8 0 0 0 0 0 0
68 6+ 150| 109(S |V 0:00 15:37| 15:42|Zdar n.Saz.,,aut.nadr. 16:23|Svratka,,aut.st. 24,1 64| 1542,4 24,10 1542,4 0 0 0 0 0 0
68 6+ 150 112|S [V 0:00 17:32| 17:35|Svratka,,aut.st. 18:18|Zdar n.Saz.,,aut.nadr. 24,1 64| 1542,4 24,10 1542,4 0 0 0 0 0 0
68 6+ 150| 113(S |V 0:20 19:37| 19:42|Zdar n.Saz.,,aut.nadr. 20:23|Svratka,,aut.st. 24,1 64| 1542,4 24,10 1542,4 0 0 0 0 0 0
o odstup 225 13867,2 225 13867,2 0 0 o[ o] ojo| o| o|ofo0|oOf0
68cell 0 0 V celkem 225 0 13867,2 225 13867,2 O 0 0000 O O0OOOOO
o ndstup
69 6+ 140| 102({M |V 0:20 7:10 7:13|Svratka,,aut.st. 7:58|Nové Mésto na Mor.,,centrum 23,8 64| 1523,2 23,80 1523,2 0 0 0 0 0 0
69 6+ 140| 101|S [V 0:00 7:58 8:02|Nové Mésto na Mor.,,centrum 8:45(Svratka,,aut.st. 23,8 64| 1523,2 23,80 1523,2 0 0 0 0 0 0
69 6+ 140| 104{S |V 0:00 9:10 9:13|Svratka,,aut.st. 9:58|Nové Mésto na Mor.,,centrum 23,8 64| 1523,2 23,80 1523,2 0 0 0 0 0 0
69 6+ 144 101|S [V 0:00 10:05| 10:10|Nové Mésto na Mor.,,Dopravni t 10:49|Snézné, hotel Zdlozna 18,8 64| 1203,2 18,80 1203,2 0 0 0 0 0 0
69 6+ 144 104(S |V 0:00 13:10| 13:12|SnéZné,,hotel Zalozna 13:49|Nové Mésto na Mor.,,Dopravni term| 18,8 64| 1203,2 18,80 1203,2 0 0 0 0 0 0
69 6+ 140| 107|S [V 0:00 13:58| 14:02|Nové Mésto na Mor.,,centrum 14:45|Svratka,,aut.st. 23,8 64| 1523,2 23,80 1523,2 0 0 0 0 0 0
69 6+ 140| 110(S |V 0:00 15:10| 15:13|Svratka,,aut.st. 15:58|Nové Mésto na Mor.,,centrum 23,8 64| 1523,2 23,80 1523,2 0 0 0 0 0 0
69 6+ 140| 109|S [V 0:00 15:58| 16:02|Nové Mésto na Mor.,,centrum 16:45|Svratka,,aut.st. 23,8 64| 1523,2 23,80 1523,2 0 0 0 0 0 0
69 6+ 140| 112{S |V 0:00 17:10| 17:13|Svratka,,aut.st. 17:58|Nové Mésto na Mor.,,centrum 23,8 64| 1523,2 23,80 1523,2 0 0 0 0 0 0
69 6+ 140 111|S |V 0:20 17:58| 18:02|Nové Mésto na Mor.,,centrum 18:45|Svratka,,aut.st. 23,8 64| 1523,2 23,80 1523,2 0 0 0 0 0 0
o odstup 228 14592 228 14592| O 0 of o o[ o| o|ofo|of0
69cell 0 0 V celkem 228 0 14592 228 14592 0 0 00 00 O0OO0OOO
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73 6+ 155 102(M [V 0:20 7:28 7:30|Méfin,,nam. 8:16|Zd’ar n.Saz.,,aut.nadr. 32 64 2048 32,00 20438 0 0 0 0 0 0
73 6+ 155| 101({M |V 0:00 9:40 9:45|7d’4r n.Saz.,,aut.nadr. 10:31|Méfin,,ndm. 32 64 2048 32,00 2048 0 0 0 0 0 0
73 6+ 155 104({M [V 0:00 11:28| 11:30|{MéfFin,,nam. 12:16|Zd4ar n.Saz.,,aut.nadr. 32 64 2048 32,00 20438 0 0 0 0 0 0
73 6+ 150| 107({M |V 0:00 13:37| 13:42|Zdar n.Saz.,,aut.nadr. 14:23|Svratka,,aut.st. 24,1 64| 1542,4 24,10 1542,4 0 0 0 0 0 0
73 6+ 150| 110|M |v [0:00 15:32| 15:35|Svratka,,aut.st. 16:18|Zd4ar n.Saz.,,aut.nadr. 24,1 64| 1542,4| 24,10 1542,4 0 0 0 0 0 0
73 6+ 155 105|M |V 0:00| 1740| 17:45|Zdér n.S4z.,,aut.nadr. 18:31|Méfin,,ndm. 32 64 2048 32,00 2048 0 0 0 0 0| |0
73 6+ 155 108(M [V 0:00 19:28| 19:30|{Méfin,,nam. 20:16|Zd4r n.Saz.,,aut.nadr. 32 64 2048 32,00 20438 0 0 0 0 0 0
73 6+ 155| 107({M |V 0:20 20:16| 20:20|Zdar n.Séz.,,aut.nadr. 21:06|Méfin,,nam. 32 64 2048 32,00 2048 0 0 0 0 0 0
odstup 240,2 15372,8( 240,2 15372,8| O 0 o[ o ojo| o] o|o|o0| 0|0
73cell 0 0 V celkem 240,2 0 15372,8 240,2 15372,8 O 0 0000 O O0OOOOO
ndstup

76 766 | 202 101|M |V 0:20 8:19 8:20|Nové Mésto na Mor.,,centrur 8:27|Zubfi 4,5 58 261 4,50 261 0 0 0 0 0 0
76 766 | 202| 102|M |V 0:00 8:27|  8:28|Zubri 8:40{Nové Mésto na Mor.,,centrum 4,5 58 261 4,50 261 0 0 0 0 0 0
76 766 | 202 104|M |V 0:00 10:03| 10:06|Nové Mésto na Mor.,,Dopra 10:17|Nové Mésto na Mor.,Slavkovice 6 58 348 6,00 348 0 0 0 0 0 0
76 766 | 202| 103|M |V 0:00 10:17| 10:18|Nové Mésto na Mor.,Slavkov 10:34|Zubfi 9,4 58 545,2 9,40 545,2 0 0 0 0 0 0
76 766 | 202 106|M |V 0:00 10:34| 10:35|Zubfi 10:52|Nové Mésto na Mor.,Slavkovice 9,4 58 545,2 9,40 545,2 0 0 0 0 0 0
76 766 | 202| 105|M |V 0:20 11:35| 11:44|Nové Mésto na Mor.,Slavkov 11:53[Nové Mésto na Mor.,,Dopravni { 6 58 348 6,00 348 0 0 0 0 0 0
odstup 39,8 2308,4 39,8 2308,4| O (1] 1] o| of o|o|ofofo0
76cell 0 0 V celkem 39,8 0 2308,4 39,8 23084 O 0 0000 OOOOOO
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79 6+ 200| 152|S |V+ | o:20 5:20 5:21|Zdar n.Saz.,,aut.nadr. 5:59|Bystfice n.Pern.,,aut.nadr. 27,7 64| 1772,8 27,70 1772,8 0 0 0 0 0 0
79 6+ 200 101|v [v+ |0:00 5:59 6:01|Bystfice n.Pern.,,aut.nddr. 7:35]Jihlava,,Zel.st.mésto 66,9 64| 4281,6 66,90 4281,6 0 0 0 0 0 0
79 6+ 200| 102|V |V+ | o:00 8:20| 8:22|Jihlava,,Zel.st.mésto 9:59|Bystfice n.Pern.,,aut.nadr. 66,9 64| 4281,6 66,90 4281,6 0 0 0 0 0 0
79 6+ 200 103[V |V+ | o:00 9:59| 10:01|Bystfice n.Pern.,,aut.nadr. 11:35|Jihlava,,Zel.st. mésto 66,9 64| 4281,6 66,90 4281,6 0 0 0 0 0 0
79 6+ 200| 104|V |V+ | o:00 12:20| 12:22[Jihlava,,Zel.st.mésto 13:59(Bystfice n.Pern.,,aut.nadr. 66,9 64| 4281,6 66,90 4281,6 0 0 0 0 0 0
79 6+ stridajV+ | o:40 13:59|Bystfice n.Pern.,,aut.nadr. 13:59|Bystfice n.Pern.,,aut.nadr. 0 64 0 0 0 0 0 0 0 0
79 6+ 200| 105|V |V+ | o:00 13:59| 14:01|Bystfice n.Pern.,,aut.nadr. 15:35(Jihlava,,Zel.st.mésto 66,9 64| 4281,6 66,90 4281,6 0 0 0 0 0 0
79 6+ 200 106(V |V+ | o:00 16:20| 16:22|Jihlava,,Zel.st. mésto 17:59|Bystfice n.Pern.,,aut.nddr. 66,9 64| 4281,6 66,90 4281,6 0 0 0 0 0 0
79 6+ 200| 107|V |V+ | o:00 17:59| 18:01|Bystfice n.Pern.,,aut.nadr. 19:35(Jihlava,,Zel.st.mésto 66,9 64| 4281,6 66,90 4281,6 0 0 0 0 0 0
79 6+ 200 108(S |V+ | o:20 20:20| 20:22|Jihlava,,zel.st.mésto 21:19|Zd4r n.Saz.,,aut.nadr. 39,2 64| 2508,8 39,20 2508,8 0 0 0 0 0 0
odstup 535,2 34252,8| 535,2 34252,8| 0 0 o[ o ojo| o] o|o]|o0| 0|0
79cell 0 0 V+ celkem 535,2 0 34252,8 535,2 34252,8 0 0 0000 O O0OOOOO
ndstup

80 6+ 143| 101|{V |V 0:20 8:35 8:40(|Zdar n.Saz.,,aut.nadr. 9:22|Snézné, hotel Zdlozna 26,8 64| 1715,2 26,80 1715,2 0 0 0 0 0 0
80 6+30| 140| 151|V |V 0:00 9:22| 9:25|Snéiné, hotel ZaloZna 9:45(Svratka,,aut.st. 11,1 40 444 11,10 444 0 0 0 0 0 0
80 6+30[ 140 152|V |V 0:00 10:10| 10:13|Svratka,,aut.st. 10:33|Snézné,,hotel Zdlozna 11,1 40 444 11,10 444 0 0 0 0 0 0
80 6+ 143| 106(V [V 0:00 10:33| 10:37|Snézné, hotel ZdloZna 11:18|2d4r n.Saz.,,aut.nadr. 21,7 64| 1388,8 21,70 1388,8 0 0 0 0 0 0
80 6+ 150| 105(S |V 0:00 11:37| 11:42|Zdér n.Saz.,,aut.nadr. 12:23|Svratka,,aut.st. 24,1 64| 1542,4 24,10 1542,4 0 0 0 0 0 0
80 6+ 150 108(S [V 0:00 13:32| 13:35|Svratka,,aut.st. 14:18|Zd4ar n.Saz.,,aut.nadr. 24,1 64| 1542,4 24,10 1542,4 0 0 0 0 0 0
80 6+ 151| 105|M |v [0:00 15:38| 15:40|Zdar n.Saz.,,aut.nadr. 15:57|Hamry n.Saz.,Slakhamry 7,4 64 473,6 7,40 473,6 0 0 0 0 o[ |o
80 6+ 151 106({M [V 0:00 15:59| 16:00|Hamry n.Saz.,Slakhamry 16:18|Zdar n.Saz.,,aut.nadr. 7,4 64 473,6 7,40 473,6 0 0 0 0 0 0
80 6+ 143] 109(V |V 0:00 16:37| 16:42|Zd4ar n.S4az.,,aut.nadr. 17:21|Snéiné, hotel Zdlozna 21,7 64| 1388,8 21,70 1388,8 0 0 0 0 0 0
80 6+30| 140| 155|V |V 0:00 17:21| 17:25|Snézné, hotel ZdloZna 17:45|Svratka,,aut.st. 11,1 40 444 11,10 444 0 0 0 0 0 0
80 6+30[ 140( 156|V |V 0:00 18:10| 18:13|Svratka,,aut.st. 18:33|Snézné,,hotel Zélozna 11,1 40 444 11,10 444 0 0 0 0 0 0
80 6+ 143 14|V |V 0:00 18:33| 18:37|Snézné, hotel ZdloZna 19:18|Zdar n.Saz.,,aut.nadr. 21,7 64| 1388,8 21,70 1388,8 0 0 0 0 0 0
80 6+ 151] 107(S |V 0:00 19:38| 19:40|Zdar n.Saz.,,aut.nadr. 19:57|Hamry n.Saz.,Slakhamry 7,4 64 473,6 7,40 473,6 0 0 0 0 0 0
80 6+ 151 108(S [V 0:20 19:59| 20:00|Hamry n.Saz.,Slakhamry 20:18|Zd4r n.Saz.,,aut.nadr. 7,4 64 473,6 7,40 473,6 0 0 0 0 0 0
odstup 214,1 12636,8( 214,1 12636,8 0 (1] o[ o ojo| o] o| 0| 0| 0|0
80cell 0 0 V celkem 214,1 0 12636,8 214,1 12636,8 0 0 0000 0 O0O0OOO




